
First edition, November 2007 

Model Ge-SC1a (G426) 

PARTS CATALOG 

Ricoh Company, LTD. 



Model Ge-SC1a (G426) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

Model Ge-SC1a (G426) 
 



 

Model Ge-SC1a (G426) 
 



 

 
 

  1.ADF (G426) ..........................................................  2 

  2.Scanner 1 (G426).................................................  4 

  3.Scanner 2 (G426).................................................  6 

  4.Decals and Documents (G426)............................  8 

  5.Special Tools (G426) .........................................  10 

 Parts Index ............................................................. 14 

Model Ge-SC1a (G426) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

November ,12 ' 2007 



2 

 

 

1.ADF (G426) 

 

5 

3 

15 

10 

17 

16 
8 

6 

7 

9 

14 

13 
12 

2 

1 

4 

11 



3 

 1 G426 1162  ADF Cable 1 

 2 G426 1161  DC Motor - 24W 1 

 3 G426 1103  ADF Roller 1 

 4 G426 1104  ADF Cover 1 

 5 G426 1105  ADF Pad 1 

 6 G426 1106  Upper Case 1 

 7 G426 1107  ADF Drive Unit 1 

 8 G426 1108  ADF Main Board 1 

 9 G426 1109  Paper In Sensor 1 

 10 G426 1110  Main Case 1 

 11 G426 1111  Platen Cover 1 

 12 G426 1112  Left Hinge 1 

 13 G426 1113  Right Hinge 1 

 14 G426 1152  Screw - M4x10 2 

 15 G426 1151  Screw - M3x8 2 

 16 G426 1155  Screw - M3x4 1 

 17 G426 1153  Screw - M3x6 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.ADF (G426) 



4 

 

 

2.Scanner 1 (G426) 

 

13 

14 
15

16 

12 

11

22 

21 

6

7

5

17 

19 

2

3 

4 

8 

9 

23 

23 

23 

24 

24 

24

23 

25 

18 

1

29

28

10 

26

27 
20 

24



5 

 1 G426 1115  Scanner Cover 1 

 2 G426 1116  Guide Rod 1 

 3 G426 1117  Drive Belt-L523 1 

 4 G426 1118  Scanner Housing 1 

 5 G426 1119  Scanner Guide 1 

 6 G426 1120  Lock-PC 1 

 7 G426 1121  Scanner Main Board 1 

 8 G426 1122  Power SW 1 

 9 G426 1123  PCB Barcket 1 

 10 G426 1126  Fax Board (-57) 1 

 10 G426 1125  Fax Board (-67) 1 

 10 G426 1124  Fax Board (-68) 1 

 10 G426 1164  Fax Board (-69) 1 

 11 G426 1127  Operation Panel 1 

 12 G426 1128  Panel Upper Cover 1 

 13 G426 1129  Panel Lower Cover 1 

 14 G426 1130  Key Board 1 

 15 G426 1131  Cover - LCD 1 

 16 G426 1132  LCD Board 1 

 17 G426 1133  Scanner Unit 1 

 18 G426 1134  DC Motor - 14.9W 1 

 19 G426 1135  Exposure Lamp 1 

 20 G426 1136  Harness - 20P 1 

 21 G426 1137  Harness - 12P 1 

 22 G426 1138  Harness - 32P 1 

 23 G426 1150  Screw - M3x6 12 

 24 G426 1151  Screw - M3x8 9 

 25 G426 1152  Screw - M4x10 2 

 26 G426 1160  Decal:Operation Panel 1 

 27 G426 1157  Decal:Logo:RIC 1 

 28 G426 1159  Decal - Copy:Original 1 

 28 G426 1165  Decal - Copy:Original:5Languages 1 

 29 G426 1158  Decal:Vermont (57 only) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

2.Scanner 1 (G426) 



6 

 

 

3.Scanner 2 (G426) 

7

4

8

6

5

1 2 3

9



7 

 1 G426 1139  AC Power Cord - US 1 

 2 G426 1140  AC Power Cord - EU 1 

 3 G426 1141  AC Power Cord - AU 1 

 4 G426 1142  USB2.0 Cable 1 

 5 G426 1143  Adapter 1 

 6 G426 1144  Input Paper Tray 1 

 7 G426 1145  Paper Support Tray 1 

 8 G426 1146  Paper Stopper 1 

 9 G426 1156  Phone Cable 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

3.Scanner 2 (G426) 



8 

4.Decals and Documents (G426) 

1

2

5

3

4

Attention Prohibited Copying

Achtung Gesetzliches Kopierverbot

Attention Reproductions interdites

Attenzione Divieto di copiatura

Atencion Prohibido copiar

 



9 

 1 G426 1160  Decal:Operation Panel 1 

 2 G426 1157  Decal:Logo:RIC 1 

 3 G426 1159  Decal - Copy:Original 1 

 4 G426 1165  Decal - Copy:Original:5Languages 1 

 5 G426 1158  Decal:Vermont (57 only) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

4.Decals and Documents (G426) 



10 

5.Special Tools (G426) 

1 2

43



11 

 1 5442 9103  Launa Oil 1 

 2 A257 9300  Grease-Barrierta S552R 1 

 3 VSSM 9000  Digital Multimeter - Fluke 187 1 

 4 G404 9005  RS-13 Chart (A4) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

5.Special Tools (G426) 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 



 

 

 

Parts Index 



14 

G426 1103  ADF Roller   3 -   3 

G426 1104  ADF Cover   3 -   4 

G426 1105  ADF Pad   3 -   5 

G426 1106  Upper Case   3 -   6 

G426 1107  ADF Drive Unit   3 -   7 

G426 1108  ADF Main Board   3 -   8 

G426 1109  Paper In Sensor   3 -   9 

G426 1110  Main Case   3 -  10 

G426 1111  Platen Cover   3 -  11 

G426 1112  Left Hinge   3 -  12 

G426 1113  Right Hinge   3 -  13 

G426 1115  Scanner Cover   5 -   1 

G426 1116  Guide Rod   5 -   2 

G426 1117  Drive Belt-L523   5 -   3 

G426 1118  Scanner Housing   5 -   4 

G426 1119  Scanner Guide   5 -   5 

G426 1120  Lock-PC   5 -   6 

G426 1121  Scanner Main Board   5 -   7 

G426 1122  Power SW   5 -   8 

G426 1123  PCB Barcket   5 -   9 

G426 1124  Fax Board (-68)   5 -  10 

G426 1125  Fax Board (-67)   5 -  10 

G426 1126  Fax Board (-57)   5 -  10 

G426 1127  Operation Panel   5 -  11 

G426 1128  Panel Upper Cover   5 -  12 

G426 1129  Panel Lower Cover   5 -  13 

G426 1130  Key Board   5 -  14 

G426 1131  Cover - LCD   5 -  15 

G426 1132  LCD Board   5 -  16 

G426 1133  Scanner Unit   5 -  17 

G426 1134  DC Motor - 14.9W   5 -  18 

G426 1135  Exposure Lamp   5 -  19 

G426 1136  Harness - 20P   5 -  20 

G426 1137  Harness - 12P   5 -  21 

G426 1138  Harness - 32P   5 -  22 

G426 1139  AC Power Cord - US   7 -   1 

G426 1140  AC Power Cord - EU   7 -   2 

G426 1141  AC Power Cord - AU   7 -   3 

G426 1142  USB2.0 Cable   7 -   4 

G426 1143  Adapter   7 -   5 

G426 1144  Input Paper Tray   7 -   6 

G426 1145  Paper Support Tray   7 -   7 

G426 1146  Paper Stopper   7 -   8 

G426 1150  Screw - M3x6   5 -  23 

G426 1151  Screw - M3x8   3 -  15 

G426 1151  Screw - M3x8   5 -  24 

G426 1152  Screw - M4x10   5 -  25 

G426 1152  Screw - M4x10   3 -  14 

G426 1153  Screw - M3x6   3 -  17 

G426 1155  Screw - M3x4   3 -  16 

G426 1156  Phone Cable   7 -   9 

G426 1157  Decal:Logo:RIC   5 -  27 

G426 1157  Decal:Logo:RIC   9 -   2 

G426 1158  Decal:Vermont (57 only)   9 -   5 

G426 1158  Decal:Vermont (57 only)   5 -  29 

G426 1159  Decal - Copy:Original   5 -  28 

G426 1159  Decal - Copy:Original   9 -   3 

G426 1160  Decal:Operation Panel   5 -  26 

G426 1160  Decal:Operation Panel   9 -   1 

G426 1161  DC Motor - 24W   3 -   2 

G426 1162  ADF Cable   3 -   1 

G426 1164  Fax Board (-69)   5 -  10 

G426 1165  Decal - Copy:Original:5Languages   5 -  28 

G426 1165  Decal - Copy:Original:5Languages   9 -   4 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



15 

A257 9300  Grease-Barrierta S552R  11 -   2 

G404 9005  RS-13 Chart (A4)  11 -   4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

VSSM 9000  Digital Multimeter - Fluke 187  11 -   3 

5442 9103  Launa Oil  11 -   1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.ADF (G426) 
	2.Scanner 1 (G426) 
	3.Scanner 2 (G426) 
	4.Decals and Documents (G426) 
	5.Special Tools (G426) 
	Parts Index 

